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QUESTION 1

Which of the following ports does RDP use by default?
A. 23

B. 902

C. 1677

D. 3389

Correct Answer: D

QUESTION 2

A technician needs to setup a server to determine if production servers go down. Which of the following servers will be
used?

A. DNS server

B. SNMP server
C. Proxy server
D. DHCP server

Correct Answer: B

QUESTION 3

A technician is working in a large corporate environment and is preparing to install patches on a mission critical server.
Which of the following should the technician do FIRST before installing patches on the server?

A. Clone the server

B. Take a snapshot of the server

C. Backup the server

D. Deploy patches on a development server

Correct Answer: D

QUESTION 4

A server is having problems accessing its presented storage on a SAN. Which of the following could be causing the
problem? (Select TWO).



A. NIC

B. HBA

C. Tape backup drive
D. SCSI adapter

E. CPU

Correct Answer: AB

QUESTION 5

Which of the following are attributes of a hardware-based RAID controller? (Select THREE).
A. Backs up data

B. Less expensive than software RAID

C. Vendor neutral implementation

D. Accessible through a BIOS interface

E. More host CPU usage than software RAID

F. Accessible through a system utility after the OS has been loaded

G. May retain data in the event of a power outage

Correct Answer: DFG

QUESTION 6

An administrator is installing Windows Server 2003 via CD on a new server with an SAS RAID array. When the
administrator reaches the option to select the target installation drive, there are no drives listed. Which of the following is
the FIRST thing the administrator should do?

A. Restart the installation via WDS.

B. Shut down the server and check that all RAID drives are connected properly.

C. Restart the installation from CD and press F6 to install RAID drivers.

D. Go into the BIOS and set all RAID drives to compatibility mode.

Correct Answer: C

QUESTION 7

Which of the following is the purpose of the VRM for the processor?



A. To vary the processor\\'s clock speed

B. To regulate the voltage from the motherboard

C. To adjust the access speed of virtual memory

D. To provide a data path for multiple processor communications

Correct Answer: B

QUESTION 8

Which of the following provides the MOST redundancy for a corporate server network?
A. Server-to-server replication

B. Server clustering

C. Hot site

D. Disk-to-disk replication

Correct Answer: C

QUESTION 9

Which of the following transmission media is used to connect to a Storage Area Network?
A. Fibre Channel

B. SAS

C. Coaxial

D. Ethernet

Correct Answer: A

QUESTION 10

A company has just implemented a disaster recovery plan in which critical business must be restored in a four hour
window. Which of the following methods should be used to backup the servers?

A. Incremental backup
B. Data only backups
C. SAN replication

D. Full backup



Correct Answer: C

QUESTION 11

Which of the following RAID levels provides exceptional redundancy and no write penalties?
A.RAID 1

B. RAID 3

C.RAID 6

D. RAID 10

Correct Answer: D

QUESTION 12

A technician needs to install Windows 7 on 100 computers on an already functional network. The technician already has
an image that will be used for deployment. Which of the following should the technician do NEXT?

A. Install a DNS server

B. Install a DHCP server

C. Install and configure WDS

D. Create a Windows recovery image

Correct Answer: C
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